ES5RIFHETRATRR 20144108 19A

RE b SRR B 8%

ONEBEFA4FE 100m FiFE

(1%8) -0. 8m
B v—> o= K 4 B EHE ECE% -

1 3 15 Rlu Bth FE=/ /M 1676

2 4 23 BF AP +H£/RR N 1776

3 2 33 =i ERE S8/ )Y 1777

4 5 1 fBR FE FE/N MM 1778

(2%8) -1.1m
B v—> - K & R FE % e
12 14 /MU AKX FigZ/NH M 1770

2 4 2 HY T Bl M 1772

3 3 9 gk B FBEN Y 1778

5 34 B8E AKX ZBE/ND Y DNS




ES5RIFHETRATRR

2014%£10A 19H

R E BRI ED 8%

O/NEBFS5HFE 100m Fi#E

(1%48) -0. 9m
IBRE L—> ro- B 4 BT B =FH ECE% &E
12 46 T2k =# RAN /I 16”0

2 6 10 mEEw HBEND /5 1671

3 4 21 Eil EAS E/HRR NS 1672

4 3 5 BB ME HEEAN NG 1672

5 5 b7 {mE E£EF FHEM/N S 1674

(2%R) +0. 1m
B v—> - K% R FE EiE e

1 3 58 BEH Mt ING 1574

2 2 20 #fk FKX t/RR NS 1671

3 5 26 AKX EK TA/M S 1673

4 4 6 ffE WS FieAA D 16”73

5 6 45 %W HRE KHAE/NMD /5 1772

(3#8) -0. 4m
IRz b=y - K 4 BT B ¥HF FCEK 5

1T 4 3 #MEBE FHEAN NS 1579

2 2 27 KB BES TR/ NS 16”1

3 5 11 Rk #4E BE/N ING 16”1

4 6 22 Wl ME E/IRR /NG 1677

5 3 47 fRE &= KRE/M NS 1773




ES5RIFHETRATRR 20144108 19A

R E BRI ED 8%
ONFEFG6E 100m FiE
(1%48) -0. 7m
IBRE L—> ro- B 4 BT B =FH ECE% &E
1 6 13 BE #&th HE/N N6 1575
2 4 19 REE H/RR /N6 1578
3 3 51 FEE fRA A/ N6 1677
4 2 42 #@EBE  OREN 6 1677
5 48 seermiowsos AL NG DNS
(2%R) -1.0m
B v—> - K% R FE EiE e
1 4 16 #K &3+ £/RR /16 1477
2 3 7 BB B FHEAN G 1479
3 2 53 /NB EEK A N6 1577
4 5 55 $EE fA—Ep FDAN /N6 1673
(3%R) +0. 1m
IRz b=y - K 4 BT B ¥HF FCEK 5
1 5 50 RE #HIE AW /6 16”1
2 3 18 LUl —BE E/RR /N6 1777
2 49 B B AN N6 DNS
4 52 JRH FIE AN 6 DNS




ES5RIFHETRATRR

2014410A19H

R b BRHk AL E%

ONEXFA4E 100m FiFE

(1%48) +0. 8m
B v—> o= K 4 B EHE ECE% -

1 2 49 3RO #Hazd B4/ N 17”3

2 3 19 [RE #E= t/PRR N 1774

3 6 76 KAAR @&H FiESE/N M 1870

4 5 21 @3 ZAE t/IRR ! 18”9

4 50 Fw v&kY BB/ M DNS
INEZFA4E 100m

(2%R) -0. 3m
B v—> - K% R ZEF EiE e

1 4 1 B BEF HESN M 16”8

2 3 48 FNEHF B|BAEN N 17”3

3 6 75 Al FE FEEN /M 1776

4 2 1 BE BH BHEN N 17”8

5 5 18 BRHF EFE L£/RR N 1874




ES5RIFHETRATRR

2014%£10A 19H

RE b SRR B 8%

O/NEZF5F 100m FFE

(148) +0. 4m
B v o K 4 R EFE ok w&

1 3 6 &8 81 BE/NM IS 1575

2 5 22 BH# FB SHI 1\ 1670

3 4 39 1R it |EN /N5 16”1

4 2 43 BRE B BEEN IN5 1674

5 6 37 Eal ®x ZFA/N INb 18”3

(2%R) -0. 3m
B v—> - K% R FE EiE e

1 2 51 &% AE BB/ /N5 1774

2 4 41 %A BEP BEND /N5 1774

3 3 2 B RiE HFlEAN S 18”5

4 5 16 Hdh %% L/RR /N5 18”9

6 40 F)I X EEND /N5 DNS

(3%R) +0. 3m
IBh v—> 7o K % R ¥FE ik wE
13 14 1A BE t/RR /N5 16”8

2 4 53 :H BE BEN /N5 1772

3 5 23 & ER SH/AM 1\ 1775

4 2 52 TEH EH EEND 1\ 1778

5 6 42 kB ¥F SZ&/N /N5 18”3

(4%R) +0m
B L—> - K4 R EEF EiE e

1 6 47 mik &' ZE&/N INb 1677

2 3 36 FE R Z&/N /N5 1773

3 5 38 EHiE Bt ZHN /N5 1775

4 2 62 @ &H<H REAN /N5 18”7




ES5RIFHETRATRR

2014%£10A 19H

R b BRHk AL E%

O/NEZFO6HE 100m FFE

(1%8) +0. 4m
B v—> o= K 4 BT B =FH ECE% &E

1 4 74 BB AN 6 1670

2 1 27 tkRK BE SFHAN N6 16”1

3 6 55 HBH £ TR/ N6 16”1

4 2 3 fRE F=HF EH/ND 16 1677

5 3 58 Al HiZE RE/M N6 1775

6 5 13 BNl vkY £/ARR /N6 1775

(2%8) +0. 4m
B v—> - K% R FE EiE e

1 4 9 78 K¥k £/IRR /16 1576

2 2 73 B Yyh kg /16 15”8

3 6 8 MR HEE E/RR /N6 1579

4 1 59 B WE REN 6 1672

5 1 FHN RE AN /16 1676

6 3 33 MAE EZFX E&B/N /16 16”8

(3%R) -1.7m
Bt L—> +o- K £ B EE FCEK e

1 1 30 XNl #FmF EB/ND /16 1670

2 5 32 /O HEE ZA/MN N6 16”4

3 3 57 #Hilg Bk RE/M N6 1677

4 6 70 A T AN N6 1770

5 4 10 Bl BF t/IRR /6 1778

2 72 XkH X AL/ /16 DNS




ES5RIFHETRATRR 20144108 19A

R b BRHk AL E%
OF=EF1HE 100m F:E
(1%8) +1.5m
B v—> o= K 4 B EHE ECE% &E
T3 31 ¥ REZE FrETeh 1 1379
2 6 121 A% @A FHERh ol 14”3
3 1 45 B8 —ib FHEZH 41 1479
4 2 15 EaK¥ WK WL =e) 1574
5 5 40 BX gE FE_-th o 16”1
4 70 ED /Y He@EF A1 DNS
(2%8) -0. Tm
IEh L—> ro- K% R FF EGEzS e
13 69 FF =3 Hig@mEd i 1476
2 2 28 EDO FFE FHETH =e) 1477
3 6 46 RIS #hiE FHE_FR I 1571
4 123 &8 FiR FHiRH ol DNS
5 32 /\K —# #HETH H1 DNS
(3%R) +1. 1m
Bt L—> +o- K £ B EE FCEK e
12 13 /NI g2t Lo =e] 1472
2 5 14 Z&E A WLt =e] 15”1
3 6 26 HR Eh HFETH 1 15”3
4 4 9 EX w2z FENAF 1 16”4
5 3 47 vt EEER B/E—HR I 1677




Eo5EIFIBTRATKS 20144£10819H
R b BRHk AL E%
FEEF1FE 100m
(4%R) -1.8m
B v—> o= K 4 B EHE L% -
1 6 67 X mE £Z|AEF 1 1378
2 2 43 5 Mg FE_-p Pl 15”1
3 5 44 s BH FHEZD i 1572
4 4 11 2R EX FigAR$d H1 1577
5 3 30 KiF BIG T 1 16”1
(5%R) +0. 3m
B v—> - K% R ZEF EiE e
1 5 42 )% B% F#_-d i 13”8
2 2 A1 B K¥E FHEZH 41 14”5
3 6 120 K#¥ K# H#ERT i 1476
4 3 25 ;AHA &3 FHETS =e) 1770
4 33 WO =X WA =e) DNS
(64R) -0. 3m
G v—> - K4 R ZEF L8R -
1 3 48 WK @ FH-c i 1279
2 6 10 #iK —E FHEAHR I 1376
3 5 68 Hf ¥ HEAS Fi 1472
4 4 122 1LkF BN FHERD &I 1472
2 24 EHE BRE HETH 1 DNS




Eo5EIFIBTRATKS 20144£10819H
R b BRHk AL E%

OFFFEF2HF 100m FiE

(1%48) +0. 6m
B v—> o= K 4 B EHE L% -

1 6 39 BR FE FE_ch &2 1278

2 2 101 #i5E Bt FERGF G2 1470

3 3 17 itk BfE FHETH 2 1474

4 5 16 LE# BEER FHETS 2 1479

4 102 #ME EA FHERGT  $2 DNS

(2%R) -0. 1m
L A A - - R ZEF EiE e

1 4 23 #5a B FErg 2 12”8

2 3 103 /2 et FHERG 2 1279

3 2 38 =H EE FHEZch o2 1375

4 6 19 /NE BEX #FHETH 2 1471

5 71 tHhiF ZH FE@EF  H2 DNS
FEEF2F 100m

(3%R) +0m
Bt L—> +o- K £ B EE FCEK e
12 20 @& 58 #HETH t2 1278

2 3 104 B BE FHERGP $2 1279

3 6 5 BHiE K— FHEAH o2 13”8

4 5 64 Mk £t EED 2 1379

5 4 72 s0O gz FigEP 2 1472

(4%R) -1.3m
B L—> - K4 R EEF EiE e

1 4 65 &l BEE EEF 2 1279

2 2 4 2@ XEA FBAH &2 13”1

3 5 105 K Bz FHERP &2 1373

4 3 18 th#t BiE #HETH t2 14”1

5 6 12 =M L#E WL t2 15”3




Eo5EIFIBTRATKS 20144£10819H
R b BRHk AL E%
O+FEEFIFE 100m FiE
(1%48) -0. 5m
B v—> o= K 4 B EHE ECE% &E
1 3 34 KRN LB F=-dh 3 1270
2 4 74 ZFHA MFE FEAFR  H3 1274
3 6 75 kXK E EEAS 3 13”3
4 1 60 FBE BE S69 F3 1374
2 1 o¥ K& FEAHR  $3 DNS
(2%R) -0. 3m
L v—> - K% R EF EiE e
1 2 98 M % FERH 3 1275
2 6 2 BEH Zp FEAHR  #3 1276
3 5 37 /M BEFE FHE—HR 3 12”9
4 1 36 JIE K— HHE=-Hh &3 1370
3 77 ED K& FiEwEF  $3 DNS
4 58 t#EE K& BEH 3 DNS
(3%R) -0. Tm
G v—> - K4 R ZEF L8R -
1 5 76 £HA FEXx HFHEADL &3 12”8
2 6 99 FlF A FHERS F3 1370
3 3 35 wmmE BEE FM-p &3 1476
2 3 TG wE FEX 3 DNS
4 61 S48 ¥BE BES 3 DNS

10



ES5RIFHETRATRR

2014%£10A 19H

R b BRHk AL E%

O FTFELF1E 100m FiE

(1%48) -0. 2m
B -2 - K & R EFE % w&

1 4 51 &# H FEEFT &1 1478

2 2 54 HR #FX FHEASL I 1572

3 3 31 lUE EXx FHETH ==} 15”8

4 1 24 F@ L #HETH 1 1671

5 5 92 e F&8 FHKRH & 1772

6 6 18 #@A WY FHATH t1 1773

(2%R) +0. 5m
B v—> - K% R FE EiE e

1 1 26 T#% 3 #HESD #1 1472

2 6 49 XBEwYxz BEH th1 1479

3 2 53 FIH #I%E FMEADL I 1572

4 3 30 R#E EF HETH th1 1572

5 4 94 /¥ BN BFERE $i 1778

5 23 FR BF #HHETH ==} DNS

(3%R) +0. 4m
Bt v—> ro- K & B EE EiE 5 e

1 4 93 lUA FE FHERT &1 1472

2 1 32 k¥ &% FHEZ-FH i 1475

3 3 55 #&A A FEFEH I 1575

4 5 19 €18 RE FHHETH f1 1578

5 2 25 ] R FETH 1 171

6 50 FHR EF E&H =e] DNS

(4%R) +0m
B L—> - K4 R EEF EiE e

1 3 52 s BER HEAD  Fi 15”1

2 2 21 ®A X FHETH f1 1572

3 1 b Ik #&X Wt f1 1572

4 5 95 {£fk 8% BFERT $i 15”9

5 6 29 /ML ZEME FHETH f1 1672

6 4 22 AF EE FHETH f1 16”5

11



Eo5EIFIBTRATKS 20144£10819H
R b BRHk AL E%
OFFELF24F 100m FiE
(1%48) +1.1m
B v o K 4 B ¥HE BBk o
1 2 60 B RaxE HigEh 2 1471
2 5 b7 Rig mAE FiEAF &2 1475
3 6 14 Mk BTy FHETH th2 1478
4 1 17 EH FS Hlrt th2 1572
5 47 #5K BX EE9 2 1672
4 4 UK ER b t2 DNS
FELZF2F 100m
(2%R) +1.0m
B v—> - K% R FE EiE e
1 6 59 & Fax HiAEd &2 1474
2 2 6 HNHEIKE HETH th2 14”8
3 5 7 M R HETH th2 14”9
3 62 E9i® HmIF FiEAGS 2 DNS
4 88 B WNE HHERGT 2 DNS
(3%R) +0m
IBh v—> 7o K % R ¥FE Bk wE
13 10 H#E X #HETH th2 1477
2 2 1 g FxE BEATH $2 1576
3 6 90 =k kE HFHRH &2 16”0
4 5 11 HiF ¥ HErsh t2 17”3
4 A4 AR HTE BES t2 DNS
(4%R) -0. 6m
B L—> - K4 R EEF EiE e
1 6 13 8K E# AP t2 15”9
2 4 46 EB EEX BAT t2 1670
3 2 89 =vis WL FigRF 2 1676
3 8 dtH#H A FETH 2 DNS
5 61 ™Il &/ HFEEASP H2 DNS




Eo5EIFIBTRATKS 20144£10819H
R b BRHk AL E%
FELZF2F 100m
(5%R) -0. 1m
B v o K 4 R EFE BBk w&
1 3 2 /I Rk FlRch o2 1475
2 4 12 EARM 4T HETH th2 1571
3 6 15 #FMA Ei HETH §12 1771
2 45 =B FE AT §2 DNS
5 5 ZEEk &% Wi t1 DNS
FELZF2F 100m
(64R) -0. 3m
G v—> - K4 R EF L8R -
1 5 48 Bi5 34 BB th2 15”5
2 6 16 WO #HETF FHETH th2 16”3
3 4 3 thE fEx FiEAF 2 16”9
2 63 €% EIF HHEASP $2 DNS
3 91 Eik HH FERP 2 DNS

13



ES5RIFHETRATRR

2014%£10A 19H

R E BRI ED 8%
Q@M FEZFIFE 100m FiFE
(1%8) +0. Tm
IBRE L—> ro- B 4 BT B =FH ECE% &E
1 2 65 wa HHY SFHEES  $3 142
2 4 68 TN FE FHEAS 3 1476
3 6 38 EHEHE SBEP $3 1477
4 3 39 ®mH Ond BT 3 153
5 1 43 HE F1x SEF 3 1577
6 5 42 Rk FHF SEH $3 1972
(2%R) -0. 1m
B v—> - K% R FE EiE e
1 3 371 L% HE S84 $3 1471
2 40 oH £ EEH $3 1476
3 1 4 B XEFE BB F3 1576
4 6 87 M BEE 3 1978
2 64 R E FHiEAEDB  $3 DNS
4 67 &K E HigES $3 DNS

14



ES5RIFHETRATRR

R b BRHk AL E%
O@—fiEEF 100m ¥ &
(148)
B v—> o= K 4 B EHE ECE% -
1 3 25 3RO ®EE 35 0170
2 4 17 @ EM HFiEFEH0B 24 0270
3 2 18 jEil X% H#EFEOB 19 0370
4 6 19 ¥R = HiEEHOB 19 0670
5 31 KU ®m EHEHB 51 DNS
(248)
B v—> - K% R ZEF EiE e
1 3 20 fak ¥ HAEPB 19 0470
2 2 14 HnE EX HE-h%E 31 0570
4 28 ZERk EH 31 DNS
5 21 F& B H#EE$0B 19 DNS

15

2014%£10A 19H



ES5RIFHETRATRR

R E BRI ED 8%
O/NELF4FE 800m
RO
IB4L -4 - - K 4 OB Ekd &E
1 3 5 il =FE FE/N 31672
2 5 3 kEEEw BEND 31971
3 4 20 KE H= +£/PRR 321717
4 1 4 g LBA BEIN 32178
2 65 W E A/ DNS
6 DNS

16

2014%£10A 19H



ES5RIFHETRATRR

RE b SRR B 8%

O NELZFS5F5 800m
R OB
L 45 - - K & BT OB OBE EfE2S £
1 1 67 BR& #5650 A/ %) 249”3
2 2 45 MR IR EBE/N %) 25172
3 11 24 mEg i€ SHAD 1Y) 2’5771
4 4 4 = £k EB/ND %) 300”5
5 13 15 /E:& #EK Lt/PRR %) 30474
6 7 25 Bimz BE SHN 1Y) 305”1
7 12 46 WA BE &6/ %) 3089
8 9 66 mFH ZEm AN %) 31372
9 5 26 B XB SH/N INS 31772
10 6 61 5 €% KHA/D \%) 33072
11 14 63 % FF KHE/ND /N5 33174
12 10 64 /M fBFE RHE/N INS 33177
13 3 17 #H# »&EE £/PRR \%) 33376

8 47 ik BXE S8/ I\ DNS

17

2014%£10A 19H



ES5RIFHETRATRR

e b aEERECER

O/NEZF6HE 800m
®
B -5 - - K 4 B EHE L% -
1 6 34 HE%F BF g8/ /6 252”8
2 8 28 /KK RME SFH/N ) 2'58"2
3 10 35 F#&E vtz BB/ /N6 30176
4 1 68 F H<H AL ) 30570
5 4 29 BEf BEK SH/ND /N6 306”3
6 2 54 Epk BE EH/N ) 312”1
7 9 11 H% XA T/DdRR /6 31675
8 3 56 IufE =# KHA/D ) 32979
9 7 60 m BEX KH/ND 7\ 33876

5 13 Bl v&Y E£/PRR ) DNS

18

2014%£10A 19H



ES5RIFHETRATRR 20144108 19A

RE b SRR B 8%

O/NEBEF4HF 1500m

R OB

B -5 - o B 4 OB Ekd &E
1 3 37 B¢ EE EBN 60775

2 2 3B KT XE S&HN 609”8

3 4 36 il EE SE/N 6’ 54”7

4 1 8 M 1& FEN 70577

19



ES5RIFHETRATRR 20144108 19A

e b aEERECER

O/NFEBF5F% 1500m
®
B -5 - - K 4 B EHE L% -
13 31 XA 88 g8/ /5 546”0

38 HE Hth BAM NS 54679

29 B4 B BAM A5 55971

28 BE E&H BB/ %) 55974

44 BH BEF kA/ND IND 6' 0076

43 =R% Fth KRHE/ND IND 6'31"3

~N | oo oA Ww N
~N | N oo o1 © | ©©

32 £ E EBE/N INS 64077

1 30 JE K EAN INS DNS
4 4 BX FEG FHEAN NS DNS

20



ES5RIFHETRATRR

RE_E 3R HREC B

O/NFEBEF6F 1500m
RO

Bzt K& BT OB OBE EE2 =
1 1 56 EHE EA NG 51777

2 9 24 Rk R S8/ /N6 530”9

3 2 12 wil =FHF BEN /N6 538”2

4 7 39 WO #E KE/ND /6 544”3

5 5 40 €¥ XKf kAN /N6 5 451

6 6 25 /LU IEX EBE/ND /N6 550”5

7 8 54 X ERE A/ /6 603”6

8 4 17 2H K[ L£/PRR /N6 6" 08”5

9 3 41 RE#E - RAE/ND /6 80577

21

2014410A19H



FEosMFETRATAR 20144108198
ol o5
O@FFEEF1HE 1500m
ROBAALL—RI14
A A e - BT B =FH ECE% &E
1 3 29 75E &M T 1 454”9
2 5 16 MLt B FHERP oI 51770
3 11 124 K Bifg FERP & 518”2
4 9 66 hE Y} B\LEH i1 5279
5 2 8 T Eff FtEAH i 530”0
6 4 50 Bl & FH=-H & 534”8
7 10 92 IRk ®HE HE=d i 6'05"8
8 1 117 =ix iR BER$ & 6' 0676
9 7 52 KM f@E BHE-H i 6'51"5
6 91 ik KE FHig= &1 DNS
8 95 EEA K Fig=ch i DNS
RO LL—R24
IEfL #-5 - v R £ BT B =FH Hak 5
1 6 51 IRA & HiE-H &1 5121
2 2 53 EYH @k BE=-H 517”8
3 7 21 AMRE & #HETH 1 521”8
4 1 94 KT R& #HE=f i 5371
5 10 119 =ik M FHERP &1 538”5
6 8 96 HE £ FHw=t o 538”7
7 4 118 /\K X HHlRt oI 5 53”6
3 93 &K Hifg FE= H1 DNS
5 97 #%E HiE Fig=c i DNS
9 7 i Bt FHeAD o DNS

hP BT 14

1500m #BEIESL

we e KA B FF L% &%
1 29 TEHE EH HETH H1 454”9
2 51 3RE & FHig=th i 5121
3 116 A £ & FigRP I 51770
4 53 &t @K Fi=h i 51778
5 124 K Hikg RSP HI 51872
6 27 ARE & HETH H1 52178
7 66 hE B} EATF H1 52779
8 8 il B FiAH i 53070

22



ES5RIFHETRATRR

R b BRHk AL E%
OtEEF2HF 1500m
R OBIALL—X1HE
A A e - B EHE ECE% &E
11 111 £% Rt FigRt &2 5 04”6
2 6 49 BF k# FHE-cp o2 50779
3 10 6 KE wmiE HiEAh 2 510”7
4 8 113 #HA BN FEWRHP &2 51274
5 W I FEE HERP 2 520”3
6 12 107 B FH FHERHP 2 533”8
7 3 21 R Hth FrErcp 2 5 4874
8 11 82 #48 K HiE=h 2 5 59”1
9 4 108 AT Eth FHERP o2 6 1171
10 13 81 :3 & Fig=dh o2 61276
2 90 LA HEFR HHE=dh 2 DNS
5 89 Wk ®E HM=th 2 DNS
7 78 #5 &R =4 &2 DNS
9 85 SKt &N FiE=h 2 DNS
R OBIALL—X24f
IEL -5~ - K A B EHE Ekd e
1T 8 M4 KRMIE FHiEgRP 2 4'56"8
2 12 22 WA B4 HETH 2 459”5
3 4 106 ;FE &£ FHERP &2 511”1
4 1 84 Rt E FHiE=h &2 518”3
5 2 110 AW EiE FERP o2 5185
6 7 80 KB RE Fi=h 2 5225
7 5 79 miE BEfE FE=h 2 538”3
8 6 109 [&%% E&H FERP 2 5 4774
9 11 87 #M KXig FHE=ch &2 5 49”8
10 13 86 &0 3k Fi=h 2 550”2
1110 115 Bf BER FigRth &2 55275
3 88 AR BK HHE=ch 2 DNS
3 88 AR BK HHE=th 2 DNS

23

2014%£10A 19H



ES5RIFHETRATRR 20144108 19A

fE ERR iRk
QT FEF2HF8 1500m BBIEH
we - KO£ r B =£F 8% w5
1 114 K¥ [E BHBRH 12 456”8
2 22 NH B4 FHETH 12 4’ 59”5
3 111 £% $#rth FHERT 12 50476
4 49 BH A& FHEZd  §2 5 0779
5 6 KE BB FHHESAh &2 51077
6 106 =72 &% FHERE 2 51171
7 113 #H BN FERd $2 51274
8 1 84 ik & "= 2 518”3

24



ES5RIFHETRATRR

B b RER SR

OFELZF1E 1500m
®ROB

B -5 - o B 4 BT B =FH ECE% &E
1 1 77 @8 vhrd FE=H &1 52579

2 4 21 3 EE FHEH Rl 54677

3 9 35 MK Fik FE-ch o 549”1

4 7 96 EEs &7y EHRH 1 55678

5 6 20 4t HRTE FHETH =e) 60172

6 2 36 /NBA EE FEZHF 1 6’0572

7 13 28 Rix Ak #HETH =e) 620”8

8 12 8 mk & FHie=h o 6 2170

9 b5 78 BA &FE FHE=th o1 6 4776

10 3 76 £M ++2 = 1 703”8

11 10 84 #¥# vuwo FH=tH i 70476

12 8 82 4l BmKRg FE=F 41 T 4774

25

2014%£10A 19H



ES5RIFHETRATRR

fE ERR iRk
ROBAALL—R24E
[T T : S-S - - M- - EfE2S £
2 DNS
1 DNS
O+ FLF1HFE 1500m MEIEL
we - KA r B =5 ki 5
1 77 @ v»ib FE=r ==l 52579
2 27 EFH =R FHETH ==] 5 4677
3 35 MR #Ff FEZ- o4 5 49”1
4 96 TiF #7hy FHERT ==l 556”8
5 20 ot EE{E FHETH ==l 60172
6 36 NEX EE HEZH 1 60572
1 28 RiF Ak FHHETH =a) 62078
8 12 85 migk = 5= 62170

26

2014%£10A 19H



ES5RIFHETRATRR 20144108 19A
B EFRHRED R

QOFFLF2F 1500m

R OBIALL—X1HE

B e KA B FF S8k T

1 5 58 X ¥ FHigldh 2 54172

2 9 75 iy ¥ie HE=th F2 54574

3 2 12 BE #E FHE=4 2 556”5
6 9 Z=E EH FHETH &2 DNF
1 70 ¥5 L9< FE=rh &2 DNS
3 74 BH e Fl= 2 DNS
4 69 BL X Fie=rh 2 DNS
7 7 %A 28 Fw= 2 DNS
8 13 XiF W% FE=F 2 DNS

QOFEFELF3IE 1500m

RO

IBGL #-4- - K £ T B =5 ki 5

13 33 ig#k B HiE-H H3 54774

2 1 34 =% b9 FE=-H H3 55270

3 2 66 EF =R FHEAHR F3 6" 1877

27



ES5RIFHETRATRR 20144108 19A

fE EERIREC 8%
®@—1EF 1500m
OB
JERL 45 - r2n- K 4 B =5 8% H&

1 2 16 EHE E Harnga 27 4’3378
2 1 21 HE B HiE@EPOB 19 52879

28



ES5RIFHETRATRR

2014%£10A 19H

R b 75 45 AE Bk

ONEEF4HE 100m

RO +0. 9m
B v—> o= K 4 BT B =FH ECE% &E
13 15 Riu Bt HFEZ/N /M4 1672

2 4 14 /ML @K FEZ/N M 1674

3 2 2 HEAt T HiEAh M 16”5

4 5 23 BHF KXF LR /M4 1773

5 1 33 =iy E5E Sa Y 1774

6 6 1 f&%R F#H;M FES/N M 1774

@I EBF5F 100m

RO +1.7m
G v—> - K4 R EE L8R -

1 3 58 & K IN5 1571

2 4 3 kB BSOS 1577

3 2 46 Tk E& KA/ IN5 1577

4 1 21 KB BED BA/ND IN5 1577

5 5 20 {R@k ZK £/RR /5 1670

6 6 11 (R #iE BHEN IN5 16”1
ONEEF6E 100m

RO +0m
IEfL v—> +o- K £ B EHE FCEK e

1 3 16 #5K &3+ £/RR /6 1477

2 2 13 BE #Hth BB NG 1574

3 1 19 REE#E L£/RR N 1578

4 5 53 /B BEX LA/ N 1578

5 6 50 RE EIE DN NG 1672

4 7 BH B FHESN N6 DNS

29



ES5RIFHETRATRR

2014%£10A 19H

R b BRHk AL E%

ONELXF4E 100m

RO +1.1m
L A - - B EHE ECE% &E

1 3 1 B B&E FESN M 16”5

2 4 49 /O FHmE BLN N4 171

3 2 48 FN&HFE EEND )Y 1772

4 5 19 EE #E t/RR N4 1772

5 1 75 Al FiE HEAN /M 1775

6 6 71 FHE BH EEN Mg 18”1
O/NEZFS5F 100m

RO +0. 3m
G v—> - K4 R EF L8R e

1 3 6 51 En &N IN5 15”6

2 4 22 BH HEB SHN IN5 1579

3 2 39 lUE Wi EEN IND 16”1

4 6 14 R BiE t/IRR IN5 16”3

5 1 47 mik BE |a/N IN5 1679

6 5 43 R B SEH/N /N5 171
ONFELFE6E 100m REF

(2148) ~0. 6m
IEfL v—> +o- K £ B EHE FCEK e

1 3 9 % k¥xk t/RR N6 1572

2 4 T3 B YYh aan IN6 1577

3 1 30 XN #nF EEN I1N6 1579

4 2 8 MR EEH H/RR N6 15”9

5 5 T4 ¥ 2B aan IN6 16”1

6 6 27 Eak BE SFH/N N6 16”3

30



FEosMFETRATAR 20144108198
R b Bk A0 £
QOFFEF1HE 100m
RO +0. 5m
B v—> o= K 4 BT B =FH ECE% &E
13 48 WK W HHE-t &1 1278
2 2 61 HE mE SE;&% == 1374
3 4 10 #sK —E FEAH oI 1375
4 5 42 )IH BE FE-g  fi 1375
5 1 31 #AFE REZE FHETH 1 1471
6 6 122 L BA HHEKREP i 1473
OFEFEEF2F 100m
RO +1.2m
B v—> - K & R EF Ekd e
1 6 65 &l B4 EAT 2 1272
2 2 20 FER B HHETH 2 1274
3 1 104 Bft BE HiERP f2 1275
4 5 103 /h#r BES FERHP H2 1276
5 4 23 fAn B #HETH 2 1278
6 3 39 BRE FE FHE_-P o2 1370
OFFEF3IE 100m
RO +0m
Bl v—> o K £ B EHE FCEK e
1 3 34 XA LR &=t &3 1177
2 1 76 £MA Bk HeAED 3 1272
3 2 98 #AMA E®H HERP 3 12”3
4 4 74 HEA MT FiwED 3 12”3
5 5 2 B Bm FEAP  $3 1275
6 6 37 /v BT Fie—th b3 12”8

31



Eo5EIFIBTRATKS 20144108198
R b Bk A0 £
OFFLF1HE 100m
RO +0. 1m
B v—> o= K 4 BT B =FH ECE% &E
1 4 93 WHE FE HHERH  H1 1470
2 2 32 k¥ W BHE=H i 1474
3 5 51 £ Hp FwED o 1475
4 3 26 T WE HETH o] 1476
5 1 49 &1 WYz EAS i1 1477
6 6 52 AW BB FHEHED o 1570
Q@+FFLF24F 100m
RO +0. 6m
B v—> - K & R EF Ekd e
1 3 60 I8 X4x FigFED 2 1470
2 4 59 %k XrX FiAED 2 1472
3 1 10 #HE Bk FHETH th?2 1472
4 5 2 I ER FEAHR  H2 1475
5 2 57 Rif mAE FHESP 2 1476
6 6 14 vk BTy #HETH th?2 1477
O+ELZF3FE 100m
RO +0. 9m
Y A e - I B EE FCEK e
1 4 65 s HHY HHEH 3 1472
2 5 40 thE £ TAT 3 1474
3 2 68 FA FE FHEAD  $3 14”5
4 3 31 L% HE &9 3 1477
5 1 38 ks EAT 3 1477

32



ES5RIFHETRATRR 20144108 19A

R b BRHk AL E%

@ fitEF 100m

RO +0. 6m
B v—> v K4 = L% e

T 1 14 /g EX SH-h%E 1179

2 4 17 #HE %W HHEEHB 121

3 6 19 &N = HiEEHO0B 12”3

4 3 25 /O EE 12”8

5 5 20 Kk ;E HHEETHOB 1279

6 2 18 jEil %% HHEEHOB 13”1

OtEEF40F 100m

RO +1.2m
YA e - [ Ekd e
1 3 29 EfE K&F 1376
2 4 32 WEH =R 15”1
2 5 il E #EEL5% DNS

OHFEF50F 100m

RO +2.3m
B v—> - K4 R RCE% -
1 3 33 &M@ shz HtEkE 1376
2 4 22 AR BHE BEERR 1377
3 1 11 &% Rt REF 1473
4 2 3 WE Al 1771
5 15 Wk FA DNS

QOtTEBEF60FLLE 100m

OB +2. 3m
B L—> - K & B s08% =
1 6 2] & &C 1474

33



ES5RIFHETRATRR

R b BRHk AL E%
O+FEEFHE 3000m
RO
IEGL #-5- v K % R EF L% -
1 5 56 K#f geE HHE_=-Hh 3 101376
2 3 54 {HNl Mt FieZrh o3 101772
3 2 100 KI§ =% HHERHT +3 10" 2275
4 1 57 EM R FHEZh o3 10' 2672
5 7 63 #F# #HAH &% F3 110579
6 6 73 FW & HiEAEF #3 11' 3975
4 62 B #WE ZAET $3 DNS
8 55 MM#E R HMZ-H 3 DNS

34

2014%£10A 19H



ES5RIFHETRATRR

R b BRHk AL E%
O@tFEF40F 3000m
R OB
B -5 - o B 4 OB Ekd w5
1 3 12 Al E ®ZHF 10" 2272
2 5 8 &% XA BEERsT 113974
3 6 6 AH &=H 11" 5376
4 1 10 BH% #®—8 BEexsT 133775
2 4 BK ER DNS
4 2 ZEHE FE DNS

QOtTFEF50F 3000m

RO

IEGL 4-5 - »2- K 4 [ Ekd e
1 2 1 o A ®Z 114276

2 1 23 |LKy BE— FHERS 11' 48”5

3 3 71 FHH HFEX YAIREH 12' 4270

4 4 9 EB RE BEEmsT 15" 3776

QOtEBEF60FLLE 3000m

RO

IB4L -5 -+ K A & LR et
11 26 ik 55 EAHRC 1149”8

2 2 30 AE —X F@ELSR 14' 25"

35

2014%£10A 19H



ES5RIFHETRATRR

B b BERGReR

@ fik&x+ 3000m

RO

IBRE +-5 - ro- B 4 B FCER =
#HHt #H# #N/A #N/A #N/A #N/A
#HHt #H# #N/A #N/A #N/A #N/A
Q@+TFELZF50F 3000m

BB
IB4L -5 - o= K T B o8 &5

1 42 K =8F DNS

36

2014%£10A 19H



ES5RIFHETRATRR 20144108 19A

R b BR AR 8%
@ kEF 5000m
RO 0
B v—> v K4 = L% -
1 2 24 % B HHEERS 171174
2 1 13 Bk =8 RZEHE 20' 14”5

3 16 [EH ZEB #HwIN%a

37



ES5EBEBMRAT AR 20145108 19H
R b BRHk AL E%
ONFEF 4x100mR
REBAALL—R
(148)
NEfL L—> F—L& B 1E 23 3E 43 SRR e
1 4 +/ RRA  +£/PRR B EAR P A TR OE 8K B 1702”1
2 5 RKE/PMA KREAND WO #E S KF REE C RE ¥ 170278
3 3 FALA/NA AN w1 A EE NE BA RE EE 1703”7
4 6 BEa/MA EAND KE B BE Bt EE B4 L EX 1703”8
5 2 Fig Fig b BE wm B B THE ER R 170670
(248)
B v F—L& BB 1E 25 3E 43 Bk e
12 BEE/ BHE/ M 5 B BA R sA BA Bt 10474
2 3 KHE/NB  KHE/ND ZRE Bt £H FE A BT T 38 1706”8
3 5 BEa/MB  EA/ND S EE L E AT A AR #X 108”5
#a & IE L
[EYia F—L& R 1E 25 3E 43 L w5
® +/PRRA £/PRR B EAS P B R OB 6K mL 102”1
@ RE/NMA  KEN WO #E 28 KW SR C B2 8 170278
® SIS Ea w1 B8R ES N BA RE 8 1'0377
@ EB/IMA BB KE BEE HE S @ H& L EX 1'03"8
® EREN BEN IOREE % ANEE BE O mE mA st 1'0474
® HHEN BN b fE W B E S B8 MR 106”0
@ KHE/NB  KHE/N ZRE Bt L0 FE AHF BT T 8 1706”8
E//B BB =S B ERE B AT A# AR BEX 1'08”5

38



ES5EBEBMRAT AR 20145108 19H
R b BRHk AL E%
®/INFELZF 4x100mR
REBAALL—R
(148)
IEfL L—> F—L& B 1E 23 3E 43 SRR e
1 6 FIL/NA AT U HCH B Y Y LI S BN KRE 10278
2 4 EHBIDN BB HEH £ B BE AT BF AN 07T 1703”3
3 2 +/MRRA  £/IRR Bl BT o kuk R EE R XEW 1703”9
4 5 RHE/NMA KE/D IR S ST RRR AT IR BE A 10577
5 3 SHIM  SHI BN £B BiE ER K5 BT M R 1708”5
6 1 EHE/ HE/ o) = e Lak AR B BB BN 10974
(248)
B v F—L& BB 1E 25 3E 43 Bk e
1 4 BEa/MB  EA/ND AR #bit NE R M BX 50 BEE 105”1
2 6 IO/ AT w e AP 2 ®e o0 FFF 2 1'0577
3 3 SHIB  SH/ Ma ZA Nk 6 &% A2 ek B2 170870
4 2 +£/PRRB £/RR Bt £% K BR 81 0sy FH £8 171170
°o 9 RHE/NPMB  KHA/MD HE 1B HH ST w8 6Ca MBS 113”3
#a & IE L
[EYia F—L& R 1E 25 3E 43 L w5
@D SO/ RN U HCH B YUY LI EFN kA 1702”8
® ELI BLI BE® % BFR BE BF EF X wn7 1703”3
©) +/PRRA £/PRR Bl BB 48 ARE N BE R K2R 170379
@ EB/B BB AR bt E B M ERE R0 HEE 1'05"1
® KE/MA KB IR S B RRR M RIS EE M 1'0577
® SO/ R[N Wt Zu Ah 2 2o ao0 g 2 1'0577
@ SHINB  SH Ma 2A Mk & &% A2 kex BR 170870
SHIM SFHIN B £B BiE B % BF MK KK 10875

39



ES5EBEBMRAT AR 20144£10819H
R b BRHk AL E%
O FEEFEFE 4x100mR
R

(148)
IEfE L= F—L& B 1E 23 IE 4E SRR e

1 3 HE_d FE_d % B R FE =8 B 0K 1 5172

2 4 BEAH BEad hB Y B L B A NE £ 5178

3 6 FHlRHP FHER® AH AR PE ED L BA K K 55”1

4 2 #HT R HrET R W 7 B0 F ARE B BB A 5579

5 1 Wt W ko ZE 1A NI B BAE BX BE 558 5776
O+FEFHE 4x100mR

R

(148)
B v—> F—L& BB 1E 25 IE 4E Bk e

1 3 Fl=-h HE=— N BT KF BEE ERR R AW BRR 4775

2 5 HFigEh FEAFR TH Bk bkE E FHY R AE RT 49”3

3 6 FlRP FHERSP BA B2 B BE AN E M s 50”3

4 2 #ET R #ET R A EA SR BE oAt B D BE 5170

o 1 FilgARp  FHigAs B BE HA —E HIE A— BB £AA 5171

40



ES5EBEBMRAT AR 20145108 19H
RE b SRR B 8%
O+ZFLFEFEFE 4XxX100mR
R
(148)
NEfL L—> F—L& B 1E 23 3E 43 L% e
1 4 HEAT FEAD 5 ¥rE BA BE B AOC RiE AEE 58”3
2 2 #HT HrET R T BE AN BE B4 LT 98 KA 10074
3 5 TR FERTE EEE RE ZviE oL B & LA FE 170074
4 3 Eat E&th B XEX AE WUz R EF 8K BE 10270
@t FELXFHE 4x100mR
R
(148)
L L—> F—L®& B 1E 25 3E 43 EiE e
1 4 Fllah HigAES 23 B we bry EE TR NS KR 56”1
2 2 #HT A HET R NGB NE RE I R RE Rk 56”6
3 3 EAt Eith LH \E hE £ #e vrd LR & 56”7

41



ES5RIFHETRATRR 20144108 19A

fE ERR iRk
O EEF 4x100mR
R
(148)
JERL L—> F—L% BB 1%E 27 3E 45 8% =
1 3 EHEFE 0B F #7508 HE %1 ED 9% MK E R = 4876

42



